
Multiply and Divide by 10⁻¹ (E)Find each product or quotient.
0.9 × 10⁻¹ = 6 × 10⁻¹ =
6.922 × 10⁻¹ = 0.49 ÷ 10⁻¹ =
2.635 × 10⁻¹ = 5.5 × 10⁻¹ =
4.4224 ÷ 10⁻¹ = 6.73 ÷ 10⁻¹ =
6.5 × 10⁻¹ = 3.74 ÷ 10⁻¹ =
2.16 × 10⁻¹ = 4.46 ÷ 10⁻¹ =
4.096 ÷ 10⁻¹ = 3.021 × 10⁻¹ =
0.176 × 10⁻¹ = 2.9012 × 10⁻¹ =
7.3564 × 10⁻¹ = 7.2955 × 10⁻¹ =
9.1 × 10⁻¹ = 6.5114 × 10⁻¹ =
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Multiply and Divide by 10⁻¹ (E) AnswersFind each product or quotient.
0.9 × 10⁻¹ = 0.09 6 × 10⁻¹ = 0.6
6.922 × 10⁻¹ = 0.6922 0.49 ÷ 10⁻¹ = 4.9
2.635 × 10⁻¹ = 0.2635 5.5 × 10⁻¹ = 0.55
4.4224 ÷ 10⁻¹ = 44.224 6.73 ÷ 10⁻¹ = 67.3
6.5 × 10⁻¹ = 0.65 3.74 ÷ 10⁻¹ = 37.4
2.16 × 10⁻¹ = 0.216 4.46 ÷ 10⁻¹ = 44.6
4.096 ÷ 10⁻¹ = 40.96 3.021 × 10⁻¹ = 0.3021
0.176 × 10⁻¹ = 0.0176 2.9012 × 10⁻¹ = 0.29012
7.3564 × 10⁻¹ = 0.73564 7.2955 × 10⁻¹ = 0.72955
9.1 × 10⁻¹ = 0.91 6.5114 × 10⁻¹ = 0.65114
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